SINo| NOS |PC Theory/ |Question Type |Difficulty| Question Option A Option B Option C Option D Correct
Practical Level option
AP remove redundant code from individual 10T solutions and makes It easier o
PC12. create plan for managing devices at ’ maintain, test and add features. Separating the API from the rest of the web ! ’ ’ ) ' ) ’
D IR tietedioiiiibivicil- R Theory  [Direct Concept [ Easy  [Toal 11 200 add emures. | o cymtom architocts | MUl Level Page Architecture Transforming Page Architecture Single Page Applications Direct Scaling Architecture c
the ability to scale the hiah-load portions of the site i
We have to detect the wear and tear of the wheels and break pads in the locomolive
2 | Na2sg |PC3: ensure ease of adoption for field Practical |Scenario Based |Difficult |°°2¢h While running. Sonar Radar LiDAR Optical Recognition c
deployment of iot solution
Which technoloay is chosen for this scenario?
FCA. apply information models (o determine - - -
0 ) ’ ) ’ Concepts that are explicitly represented and | Information that are handled by functional Concepts that are foundations of functional | Concepts that are handled by communication
o
3 | mezso e sirucure, fecyce ana accessiny Theory | Soenario Based _Diffct | The loT Information Model modeis which type of data from the loT Domain Moder? | “01<9FiS et 18 210 e oenents o once A
While providing loT solutions {o the clients, TAGs play an important role in identifying| g are nothing but hierarchal organization TAGs are simply any number of keywords )
) ) their interests. ch ) are sim ; You can simply add or remove TAGs on your
4 | N8240 [PC1. organize data with appropriate tags Practical |Scenario Based |Easy structures, such as the traditional fle and folder | Tags do not create and maintain any groups  |associated with any number of things that o o o perv A
Which of the followina statement is NOT true with reaards to TAGs? Systems on computers results in naturally grouped query results
5 | Ng2aq | CO- create process models to aid Practical |Scenario Based |Difficult | /ich of the following is NOT a modeling language as proposed by BRAIN-IoT 0 |y ooy - ol Device and 0T platform service APls Data model Graphical model D
of 0T use cases desian a Modelling Framework in WP3?
While working on the loT Solution using the valus engineering (VE) concept o
o | ne2ar |PC3. build value engineering into project practical | Scenario Based | Difficut_|analyse the value of the solution, which phase of the job plan will you use to nformation Function Andlyeis Creative Evaluation c
management processes generate more alternatives to the solution you already have and that can add more
value?
You run containerized workioads at the cloud/edge computing level to derive and
present various insights from the obtained data.
5. rum containerized workloads at the Which of the following statements will be INCORRECT when the containerized edge
7| neaz | 505 o Theory | Scenario Based | Medium | workoads are run on virtual machines (VM) instead of bare metai? only 1 only2 2and3 1,2and3 A
1] There will be no workload motion from one host to another
{2] Rollback to the previous configuration in case of any issue
3] Upgrade of software
PC5. run containerized workioads at the ] What s likely to happen when you run your containerized edge workioads on bare - Both low latency rate and high CPU Neither low latency rate and high CPU
8 | Neaaz | POS 0 conte Practical |Scenario Based [Easy |\/hal S kel X Low latency rate High CPU consumption lo " A
PC8.promplly resolve confiicts between team - —[What should be done 1o resolve a confiit that has arisen in the team and is failing to| Give Importance (o the idea with which most _[Raise the ssue with a senior member in fhe | Let each member express his concern and seek | Take disciplinary action on the members who
9 | Nooos Practical |Scenario Based |Medium ! ° " ! ' c 0 B
members find a common around? members are satisfied team to find a solution HR help in resolvina the issue are oreatina the confict
Strategic alliance to learn necessary skils and . - R
PC3. buid alliances to establish mutually ) Which of the following is considered as a disadvantage of building a sirategic tegic all ea Reducing risks by distributing them across the  Strategic alliance with a local foreign business to ¢, )
10 [ N90OG | oficial working arrangements Theory  |ScenarioBased (Easy | iance for establishing a mutually beneficial work environment? obtain certain capabilities from the strategic | - of the alliance gain entry into a foreign market Sharing of resources and profits D
FC5. assist team members in delivery of their - Which of the following actities should NOT be done while assising your team | Making a st of acivies [0 be performed based | Determining the scope and the time taken (o Breaking Gown actvties info smaller asks and _[By prioriizing the activies based on the time
11| N900g Practical |Scenario Based |Easy t ! ! st o D
work members in timely delivery of their tasks? on their perform the task taken to complete the task
PC7. develop mechanisms to icorporate and ] ; After identifying challenges and gathering the ideas from your team (o fix an ssue,
12 | Nooog [FST asieiop mecnenss Practcal |Scenario Based Difficult |~ 1209 Shaler g e e Implement and scale Validate Measure your efforts Get feedback from external sources B
13 | Nooto |PCO: take defined steps to reach a consensus |0 Iscenario Based [Easy | V1At should be the first step to be followed while building consensus for any action | o ing ot the discussion Introduce and clarify what action to be taken | Forming a proposal Testing for agreement B
on the course of action o be taken?
While following all the processes (o build consensus among your team members,
14 | Nooto :fi;ﬁf::gf’:;‘zﬁs toreach aconsensus | o ical | Scenario Based |Difficult | Y°Y found too many stand-asides. Explore ideas in broad discussions Work out on how to implement the decision | Amend the proposal Open out the discussion c
What should be vour next step in the aiven scenario?
During the process of identifying stakeholders, the project manager is looking for a
15 | Noot1 |PCO: use appropriate project management |0 oot et concept | Easy |1001that willhelp n prioizing stakeholders. Power Intorest Grid P Matix pran A
tools and give access to relevant stakeholders
Which of these would be the most method to use?
PC2. identify the sequence of tasks and the -
16 | N9011 |resources needed to achieve a goal, and Theory |Scenario Based |Medium | Network planning method CPM (Critical Path Method) is BEST used for: g"d‘"g the shortest path through the network ..., ate estimation of activity durations and monitoring of activities for the ntif between project c
sour ° i project manager activities
prioritize key action steps
While delivering the project, there were a number of changes that were carried out.
5. keep stakehalders undated on changes You want to keep your stakeholders updated about the changes.
17| Ngo1z [PCE:keep stakeholders up 98 | practical |Scenario Based | Diffioult On a daly basis On a weekly basis ©On a monthly basis As and when a change is done B
project req How frequently should you create a report to inform your stakeholders about the
changes in the iven scenario?
T8 | Naorz |FCO-Gefine e frequency of communication | [T T [On using whih of the foloning modes of communication you wil have NO 1dea [ Contorance Galls Nowsiators Nome of those <
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